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1. What will you g or kg to measure the weight of the following?

A pencil -

I

A big watermelon
A cake -

o o

Anorange
e. A spoon of sugar
f. Anapple L
g. A big pumpkin
2. Write the following things about weight more than 1kg or less than 1 kg.
a. Aschool bag =
b. A geometry box =
c. Abrick=
d. A big pumpkin =
e. Your pair of slipper / shoes =
3. Add the following.

1) 300 kg 563 g 2. 250 kg 063 g
+ 546kg 768 g + 546 kg 708 g

4. Tell how many times.

a).How many legs altogether do 5 elephants have?

+ + + + =

Or times =
Or X = legs Elephants will have.

b).How many legs altogether do 7 octopuses have?

+ 4 =

Or times =
Or X

legs Octopuses will have.




5. Count how many times?

a. 9+9+9+9+9+9 = =
b. 8+8+8 = =
C. 4+4+4+4 =

d. 2+2+2+2+2 =
e

6

. b+b+5 = =
. Encircle the multiples of 5.
1,2,3,5,6,10,15,16,17,20,21,25,26,28,30,35,40.
7. Encircle the multiple of 9.
1,3,5,9,15,18,20,21,23,27,33,36,38,40,45,63,65,70,71, 72,79, 81, 90
8. Look at the pattern and complete.
2,4,6,8, , ,
36,912, , |
15,30,45, _ , | :
40,80, 120,160, , , .
60,120, 180, 240, "
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9. Insert the sign. [+, - or X]

a. 10 2=20 d. 4 4=0
b. 6 10=16 e.5  5=10
c. e.4 4 =8 f10 5=15

10. Write the multiplication facts for the following.

Numbers Multiplication Facts
36
45
20
72
90

15

11. Fill in the blanks.
a. 21x100= b.87 X 10= C. X 100 =

b. 40X =400 d. 146 X100=__ e.10X900=__
c. 10X 8=___

12.Complete the following patterns.

5,10,15, 20, , , ,

8,18,28, 38, : : ,

99,199,299, 399, : , ;

63,65,67,69, : : ,

48,46 ,44 42, : : :

AA ,BB,CC DD, : : ,

S~ 00 T




g. 1AZ,2BY, 3CX, , .

13.Complete the following.

a. All numbers that end with0,2,4,6, 8 are called numbers.

b. All numbers that end with 1,3 ,5, 7 are called numbers .

c. Ifwe add 1 to an even number, we getan __ number.

d. If we add 1 to an odd number, we get an number.

e. If we add an odd number to an odd number, we get an number.
f. The smallest 1 digit odd number is

g IfAB=3,BC=5,CD=7,thenGH =

h. If pen =3, book =4, cycle =5, then computer =

. A'mug can hold 10 cups of water. The capacity of the mug is cups.

J. A water bottle is filled with 8 glasses of water. The capacity of water bottle is 8
k. The capacity of a bucket is 15 jugs. To fill the bucket completely with water. We need
jugs of water.

. Write 3 words without vowels , ,

m. Name of the months which has number of 5 letters are

n. Longest name of the month in calendar
0. A mug can hold 10 cups of water. The capacity of the mug is

p. The capacity of a bucket is 15 jugs. To fill the bucketcompletely with water. We need
jugs of water.

g. There are 6 sweets 2 friends share them equally. Eachonegets  + = sweets.

r. There are 18 toys . They are equally distributed equally among 6girls.each girls will get

s. write some words without vowels , ,

t. Longest name of the month in calendar is

14.Arrange these names in alphabetical order & number these names in the blanks.
d. MOHAN - 1. e. LILA --- .
b. CHITRA - 2 f. VENU - 6



C. ZEENAT — 3 g. SHILPA - 7.
d. NANDU — 4 h. PAWAN -~ 8.

15. Complete the following table.
LITRES MILLILITRES

Half a litre

Three fourth litre
One fourth litre
Two litres

Two and half litres
Six litres

Seven litres

Nine litres
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16. Conversion of litres to millilitres.

a. 2 litres
b. 8litre
17. MCQ’s
1) Add 71912 mland 21134 ml.
a. 101 046ml b. 81 36ml c. 111 56ml d. 101 66ml

2) Add71 314ml and 131 745ml.

a.401 49ml b. 411 59ml c. 421 39mi d. 431 57ml
3) Find the difference capacity of 291 37 ml 171 93ml.

a. 111 44ml b. 111 56ml c. 121 44mi d. 121 54ml
4) Find the difference capacity of 681 84ml and 861 48ml.

a. 271 52ml b. 271 64ml c. 171 64ml d. 171 54ml
5) What should be added to get 18I 27ml to get 271 18ml.

a. 91 27ml b. 81 91ml c. 91227ml d. 351 54ml
18.Conversion of paisa to rupees.
a. 815 paisa

b. 550 paisa



c. 650 paisa

19. Write 2 divisions for the following multiplication facts.

Multiplication facts

8 X 7=

10 X 2=

4 X5=

8 X 9=

6 X8=

2X5=

3 X9=

20. Arrange vertically solve them.

a. 87+6 d.25=+5
b.32+4 e.48+6
c.65+7 f.89+3

21. Match the following.

A B
40+ 9 70 + 2
9X3 10 X 4
9X8 2X4
45+5 X7
16 -8 34-7

37+3 62 -12



22. Write the tally marks for given numbers.
a. 3=

13 =

20=

25=

18=

C11=

23. Rupeses.

® o0 o
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a. 1rs=

o

2rs=

C. 5rs =
d. 100rs. =
e. 10rs=
f. 25rs=
g. 15rs=

24.Conversion of rupees to paisa.
a. Rs.1.00-
b. Rs.5.00 -
C. Rs.7.25-
d. RS.4.25-

25. How much money is it?
a. Two 10 rupee notes and one 50 paisa coin
b. Three 100 rupee notes and two 25 paisa coins
c. Nine 50 rupee notes and 4 1 rupee coins

26. Express the given amount of money in the short form.
a. 80 rupees 50 paisa —
b. 10 rupees 40 paisa —

25rupees 80 paisa —

. 123 rupees 60 paisa —

232 rupees and 25 paisa —

o
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27. Definitionof data.

28.Definition of Tally marks.




